Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C300003 Date: 30-12 - 2016
Subject Name: ENVIRONMENT CONSERVATION & HAZARD MANAGEMENT
Time: 02:30 PM TO 04:00 PM Total Marks: 70

Instructions:

1.

g~ W

No.

Attempt all questions.

Make suitable assumption wherever necessary.

Each question is of 1 mark.

Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)

English version is authentic.

Question Text and Option. U#l e (Ascl.
Which of the following is not the scope of Environment?

A. Hydrosphere B.  Biosphere

C. Lithosphere D.  Satellite sphere
o{lAA I s dlscu ualaReell U ol ?

A oELarel B. R uael

C. yelarw D.  Adcuse waRul
The upper most portion of the atmosphere is known as ------------ .
A. Mesosphere B.  Thermosphere

C. Troposphere D.  Stratosphere
AlAlcRRUHL 23 Al GURell AR ---------- 53 ®.
A ARglaR B auilxglaz

C D gakrflaR

The proportion of Ozone is naturally maintained in ------------------- .
A. Troposphere B.  Thermosphere

C. Mesosphere D.  Stratosphere
AUOls AA W Aloto] YMIQL ------------- Ui e 2% B.
A gl B.  snilfla

C. RAflar D.  Raflaz
Which of the following is not the aerosol?

A. Radiation B. Mist

C. Dust D. Fog

o(lAsll flscdluiell AAAR s2A0 «1l?

A 4Rt B (e

C. yaoll 2 Dy

Which is the primary component in Food chain and Food web which makes food after
getting solar energy

A. Animals B. Bacteria

C.  Vegetation D. Birds

g5 Aot Aol §SAGHL Yaloll Al ANl wslR vlotlald YU ues 53 B?
Ayl B.  aseRa

C. asuet D yelza
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6. Due to which main reason deforestation occurs ?

A.  Global Warming B. CFCgases
C. Reduction in Global warming D. Human Rehabilitation
5. Yud sA SRRIUR dot (Qatiellswl i B?
A odqud Al B. fl. Ag. ll Al
C. Al acHl w2ldl D. yietaauate
7. If - DB of noise is falling on our ear drums repeatedly, the hearing power
reduces.
A. 15 B. 80
C. 110 D. 150
9. UL Slol UR --------- SLoll. ol vaes arRalrk usdl sl L quell
gaRlallsa He ud ®.
Ay B ¢o
C. qao D quo
8. In which category of bio-tic component, Animals and human being is falling ?
A.  Producers B.  Consumers
C. Decomposer D.  Transformer
¢ YRllRAl A Hoe sl YsIRell B(As uesl B?
A Gauesl B gomual
C. Qs D. ol
9. For Sustainable Development which is only taking into consideration for social and
economical needs is known as ---------------- :
A. Bearable needs B.  Viable needs
C. Equitable needs D.  Economic needs
C. ARAGUA SdduNe HIZ B HIoL AUHURs e (s RaAd el A B
1= R— 52 ®
A Qdud ollsu B. et ols
C gEaeod ollsu sdaa ®. P 2lls wzlRaud
10. Those natural resources which are yet not developed but there are chances of
development are known as -------=-===-==-=-=--------o-ooooooo- :
A. Developing resources B.  Stock resources
C. Potential Resources D.  None of the above
0. % Ulslds AUl 6% [@AsRd ot slat url [@Astell YRyl aseidl sl del
AAYARA ----------- séald B.
A [QsRd el B. s RARRK
C. Q3llact RAR, D. Qu? we di Al 88 ual ol
11. Which option of the following is not a part of non living resources
A.  Mines B. Metal
C. Forest life D. Glasiars
1. o{lAell flscdl Usl sl wAs Aulall oll YsiR otell ?
A el B, aiqal
C. eyt D Ru@cw
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12.

.

13.

3.

14.

Y.

15.

Q.

16.

6.

17.

9.

18.

When natural resources belongs to a village or a group of person, it is known as---------
natural resources.

A. Individual B.  Social

C. National D. International

Uslds AU 2R 818 A oUM ¥ UYgell Slal R Aal -------- yislds

AUl seclA B.

A cfsold B s

C. 2l D uiddla

The ocean which is away by more than --------- km from the boundary of the nation is

known as international natural resources.

A 3 B. 6

C. 9 D. 12

B HELAOIR SlBURl ool (otiell --------- Bl ay g2 &la Aal

ylslds Aol widRAB2A yislds Al sdadu 8.

A 3 B. ¢

In India there are total ------------ types of forests.

A 2 B. 4

C. 6 D. 8

MRAML §A ------------ Ys(Reil A0l WA B,

A B.

C. o D. ¢

Trees like -----------mcmcmmmm oo are seen in dry tropical forest areas

A. Sal, Mango, Bamboo B. Coffee, Tea, Banana

C. Olive, Rhododendrum D. 0ak, Pine, Maple

Yot QUlset SR ARARHL —-------==mmmmmmmmmmoe oo Bl gell sl 1A B.

A e, Ao, di B. a4, u, 3ou

C. e, 28835 D. s, weet, Aua

Which type of energy resource a tidal energy is?

A. Biomass B. Fissile

C. Wind D. Renewable

aRcllorod Gosl A sl Ysiell Gl Al & ?

A oM B. e

C. s D Yoty

If we use continuous casting process we save the energy in the field of -------------- .

A.  Steel Industry B.  Vehicle Transportation

C. Boliler D. Home related field

Sotlo A $IREDL Ysalell Ul selell ----------- A3 Gl AAA AA B,

A @A QoL B, cuget uRdlset

C. Qs D. oy

Which of the following option is not true for efficient use of fuel in vehicles.

A. Avoid fuel leakage B.  Stop the engine for stoppage of more

than two minutes.

C.  Check regularly the waste hit D.  Maintain the proper air pressure in

recovery systems tyres.
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.

19.

c.

20.

R0.

21.

9.

22.

2R.

23.

3.

24,

cleallHl BuRlel slelatd QruloL sal H2 oA Ul sl ([@Ascu Al «tell
A e didy westag gleal. B A dlolleddl ay Asiel Wiz Aot

ol $d.

C. aAwe dle Rsadl Rrelq D. 2laui sclle] 0@l GlRAGIR AL

Wl QaRd daw
During day time wind flows from
A. Seato land B. From land to sea
C. Seatosea D. From land to land
ot e(ulet sAlol Yell -------mmmmmmmmmmmmmmmmeee- A 0.
A s drsell et dRs B oot ctRgell Us RS
Co s drsell Ay cRs D. onflot drgell lot dRs
The studies of wind direction and wind speed is carried out by ------------- .
A. Meteorological Station B. College
C. Airforce D. None of the above
Uclollo{l (22U wad olclloll MY ---------m---- GLRL sl W B.
A Qualo B.  qax
C. A D. Gu? uigll 8l ual <8l

Which of the information from following is not collected to know the

characteristics of wind ?

A.  Average wind speed /second B.  Average wind speed /hour
C.  Average monthly wind speed D. Average yearly wind speed

Udatoll ctiet@s il ostetal Hie ol Aot 58 Hdldl A58l sl qadl
Al ?
A ydetell a2 QA @ Ass B udetell Ad2we oA Y@ scus

C. Yaotoll wRs 22212 21 D. ydetell atls w2212 2
Which of the following is not collected to know the wind potential.

A.  Wind map B.  Wind table

C.  Wind map & wind table D. Contour Map

Uclol Gosloj W2l astulall 2 sl [Ascusll Gualol sclMl el otell?
A (ds Au B. (ds 2uct

C. (s Au wa Qs 2uct D. §z2 Ay

In which place of horizontal axis wind turbine, a generator is placed?

A. Intower B. nacelle

C. Onground level D. Gear Box

aRlAlect NellM (Aos 2olleotml a2 sl YsaUHl WA B ?

A 2ldR R B. adaui

C. Bs Aad u? D ollaz sl

The wind turbine which runs due to wind from direction is known as upwind
type wind turbine.

A. Opposite B. Backside

C. Top D. below
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Y.

25.

QY.

26.

?6.

27.

V.

28.

RC.

29.

RC.

% (Ads enllgyot ---------- ALLAL Uclolloll Yalledl A AL 8l Aol Aulds
ateu ([ds enigel sdatHl wa .

Ay B.  wonel

C. Guzall D. slas

Wind turbines having rotar diameter of 16 to 50 m is known as -------- wind turbine
plants.

A. Small Size B. Medium size

C. Bigsize D.  None of the above

% (ds eellgsetoll A2A stale? 15 A wo Hl slau ® Aal -------- (s
2ol wetie sdcllHl A B,

A ool s xell B.  yran asxell

C. Q& wsxel D Quz well 88 unl o

The wind mill having rotar shape of egg bitter is known as

A. Darrieus B. savonious

C. Darrieus savonious D. None of the above

% Yol UsSloll A2l cASal SR AL ofle? RA sl B Aal ------- 58 B,
A 3la B ad-llan

C. ¥la Adlan D Guz uigll 818 wol ol

Following is the characteristic of vertical wind mill
A. Direction of rotar is required to B.  Yaw control system is required.
be changed as per wind

direction.
C. Liftis produced. D. Direction of rotor is not required to be
changed as per wind direction.
adlsct (ds Mol wiRaAA ------------ R

A ydetell €lan yrid Aerell B Ald sedlcdt el w32 ud B.
elall 3acl ud ®.
C. dlse el wa D ucetell €law yrid Azl €lau
$acll usdl el

For production of constant frequency A. C. Power, stored D.C. power in battery is
converted to A.C. Power by using  ------------------- .

A. Invertor B. Battery

C. Generator D. semi Conductor

AN glscl2lloll A weR Geurt scll HI2 AeIHl AaLs st sLl. uaRa
---------- oll GUOL 531l WA WARHL FUlcR scUHl WA B.

A Badr B.  Qedl

C. oofdeR D. Al $sse2
------------------------- increases with increase in number of rotar blades.
A. Efficiency to produce power B.  Balancing of rotar

C. Solidity ratio D.  Wind speed

A2 oAs ofl Avaul aueell ------------- ad 8.

A ylar Gaudt srclloll &al B Qere] adallal

C. QA 2elA D. Ydetoll a1l
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30.

30.

31.

31.

32.

32.

33.

33.

34.

3%.

35.

34.

The arrangement for changing angle of blade in wind mill is known as -------

A.  Yaw B. Screw

C. Motor D. Pitch

Yol UsSIHL 6ASall WA $ccllo(l cucrUl A -------- 53 B,
A A B sy

C. e D. R

What is the use of wind vane ?

A.  Measures strength of wind B.  Measures wind speed

C.  Measures temperature of wind. D. Measures wind direction

(s QAetell GU0L 9 & ?

A yaetell A6 WA B, B. Yaotoll atdl 1 B,

C. Udete] GWlctiHlet M B. D. yaellell €lan slald B.

Which type of electrical generation system is necessary to supply generated power in

grid

A. Variable speed constant B.  Constant speed constant frequency
frequency

C. Constant speed variable D. Variable speed variable frequency.
frequency

(As enigol glrl Gausr UAC Ul AfsHi ALl sall HIZ saUL UsRall

SAR5C %olR2Uel ReH %33 B?

A QdlRAlud lls slee B, glrée alls sleee 4lsciall
slsctar{l

C. glée alls AdRAucd glsaexll D adlilud alls AadAud glscodl

The wave length of visible rays is ------------ micro meter.

A. 0.38t00.78 B. 0.38to04

C. Morethan0.78 D. Lessthan 0.38

g92Hlot (300ell AYgoll dRolEOUS -------- Hesl {le? 8.

A 03¢ 9l 0.9¢ B. 03¢ ellos

C. o09c¢dlay D. 03¢ @l stioll

Sun rays coming from sun & reaches earth. During this time effect of ----------

observed.

A. Absorption B.  Reflection

C. Green House D. Refraction

yaluiel ollstie (00 yeel uR usld ad eaust doll UR --------

AR Al otel.
A gl B watadet
C. oflet &G D. asletciet

Which of the following is not the principle of measuring solar radiation.

A. Principle of photosynthesis B.  Principle of thermo couple
C.  Principle of solar concentration D.  Principle of photovoltaic
(Aot ------------ AR WAt Hiuclell Rruic o2l

A ysial sAet ol Rtuid B.  allsuct ol Redict

C. Qar sluepalet ol Rtuid D.  galaess -l Reaid
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36.

36.

37.

39.

38.

3¢.

39.

40.

¥0.

41.

¥q.

42.

Diffused & Total radiation can be measured by ------------ instrument.

A.  Sun Shine Recorder B.  Silicon Solar cell

C.  Pyrheliometer D. Pyranometer

B2 e 2ect ASANet ----nmmmmmmmmmv Aot gl 1l asla B,

A Uot WHet 28182 B.  R@St Actz At

C. yadl@ae: D yekele:

Which is not a semi conductor?

A. Germanium B. Copper

C. Tin Oxide D. Silicon

Al 55522 ueld sl ol ?

A il B. que

C. Ret 2lsu8s D. R8st

Which of the following is not the classification of solar thermal collector?

A.  According to current voltage B.  According to fluid used in collector.

C. According to the method of D.  According to glass cover used in
collecting solar radiation. collector.

1A U8l 59 collswl AR add sAse9] adllsaL otell ?

A g3z ARy YHId B, s@seaul duRldl ey8setl wuld

C AR WAt AsaA sallell P 552Ul cAURAL AU scR Y
A Yy

In which solar power instrument the mirror is used?

A. Liquid flat plate collector B.  Solar Cooker

C. Air heater D.  Solar Photo-voltaic water pumping

sl AA WAR AlUAHL WA Yscui 2 & ?

A yadl s@e Wz sAse? B- Ak gs2

C. Az dle? D Qe da@ss dle: udlal

What is the function of glass used in solar cooker & solar heater?

A.  Sun rays can pass through. B.  The things which are kept inside

becomes visible

C. Keeps safe from external D.  Prevents the external pollution

atmosphere.

AAR 52 A AR &leUl aAuRldl WReds sl sl g B?
Ayt B0 uar as w3 B, B e yicll ardgull Ay s B,
C. walrell allcdtaRell fctiHd Do olslretl ygNea uestd B,

AW B..

The circulation water in solar water heater is done by

A.  Using small pumps B.  Using big pumps
C. naturally. D.  Using siphon
AR dler gleul welle usdastet --------- Ad aa 8.
A ollell YU ol GUAL 53la B. 1l Uu ol GuRllat s3lA
C. gexdl Al D daget o Gulal 83l

In unit time of period if the solar energy is falling at one place on the unit area then
the solar energy is known as

A. Beam Radiation B.  Diffused radiation

C. Total Radiation D. Direct Radiation
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¥R.

43.

¥3.

44,

Y.

45,

¥U.

46.

¥S.

47.

¥O.

48.

58 As WA AsH AHAHL AR AsH AAs UR Usdl YAl ----- 58 9.
A olld 381t B, Ry 2912t

C. ded 2W\Aaet D siakse 2823t

What is the name of the instrument which is giving information about the time of
cloudy area in the sky during day time.

A.  Sun shine recorder B.  Solar meter

C. Seismometer D. Pyrenometer

R una eRAl dlenoy clldlaRRl 3ecl UHA HIR 69 A Hldl
UL Altotal 9 sl B?
A Yol el 2882 B. Qe Hle:

C. faixle: D yaRale?:

What is the name of the strip which is prepared by joining two different types of
metallic strips.

A.  Thermo-couple B.  Collector

C.  Absorber plate D. Flatplate

A llu ysiRell utgllal S1scl wotldcll Elua 9 55 & ?

A anlsud B.  s@se?

C. AuAdz W@e D. s@z e

Which of the following is not the limitation of solar water heater.

A. Fabrication is difficult. B.  Required to release the pressure at high
temperature.

C.  More heat transfer area is D. Required to provide collector which

required. can bear high temperature

o(1A A flsedl Usl s dlscu AR dleR gleR ol Halel ealad «tell?

A 3ollBalele] siH AU D. B. Gl ciuniad Geurt U eoual g2
sd ud O,

C. Qe ailatgr Qaz au D. a0l G GWalclHlol ool 83

Aucl Ul 9. A% Ag sAseR AW Us .

The dimensions of outer box in solar cooker is ---- X ----- X ==-=-- cm.

A. 80X80X20 B. 60X60X20

C. 80X80X30 D. 60X60X30

AAR g5U1 ¥l wslRell WElof WU ---- X ----- X =-=--- AL sl B.

A €O X €O X R0 B s0x sox =0

C. coxcox3o D- sox so x30

Biomass is the ------------- type of stored energy.

A. Electrical B.  Mechanical

C. Solar D. Light

WRAHIRY ===~ ysiRell Ausld Gl .

A dleyd B aiolls

C a4 D ystelld

Which of the following is not the type of solid biomass?

A.  Wood B. Methane

C. Oil giving plants D. Garbage from kitchen
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¥C.

49,

¥C.

50.

Yo.

51.

uAq.

52.

UR.

53.

u3.

54,

uy.

55.

ol AottHLll s Yot A UA LAY otell?

A s B. 33t

C. Adla aetrudl D. 2dlstell Ascus

Which of the following is not the characteristic of biomass?

A. ltis Unlimited & Renewable B. Itis Costlier.

C. Awvailable every where. D.  Non polluted atmosphere.
oltlHIAe{l 58 clallsdl «tell?

A e el Yol: YL B. B, Bucui e .

C. uda udr . D. atctarel ygld ad «tel.
Which of the following is not the type of biomass.

A. Dry leaves B. Plastic

C. Biodiesel D. Fat

UAA lscdl 1idl s ysi ol oel?

A yst uiesl B s

C. wadlaa D. el

Which of the following option is not an oil yielding plant?

A. Babbol B. Kopaiba

C. Coconut D. Jojoba

lscul 1Al flotdl Ul 58 dcll aotruld otell?

A olaa B sluiaie

C. @il D. slou

Process of preparing gas by heating biomass at high temperature in steam & air blast is
known as -

A.  Aerobic Process B.  Pyrolysis

C. Hydro gasification D.  Chemical Process
OILRILHIUA GRAL WU cAlHIal WM WA sclloll 6ARRHL ARH 53l A
wottaletloll yslatal ------------ secll .

A AAells NAU B. Yl

C. slad Adlgl3atet D ¥llset QA

With which method charcoal is prepared?

A.  Anaerobic Process B.  Pyrolysis

C. Hydrolysis D. Biochemical Process
URSA 58 el wollalatHi 2 8?

A AaAells B. il

C.  asda:la D. a3 llset WA
Which gas is having more % in Biogas

A. Methan gas B.  Nitrogen

C. Hydrogen D. Carbon Dioxide
AUl sitRRHl Wl ay estaldl urladl A s B2
Al A B. sugdleset

C. sladloat D siolot slalsues

Which of the following is not an advantage of Biogas?
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e

56.

us.

S7.

9.

58.

uc.

59.

ue.

60.

SO.

61.

Sq.

A.  Waste micro organisms from B.  Best fuel for cooking.
digester are best fertilizers.
C. Cannot be stored in bottles. D. Plant efficiency is 60 %

ol Aetiniell cltNNAU oll SLAELHL Sloll AHLAA Al AA?
A slagedldl olsddl A B 28 W2 Gl B,
®alR] GriH WidR B.

C. eanl das sl astdl «tdll. D wtizoll staletidl 60 2st gecll 8l

].
From where Slurry obtained from biogas plant comes out?
A. Digester B. Gas Pipe
C. Outlet Tank D. Mixing tank
DA il Geur Ul 3| saiell vl wad 8?2
A slaBeR B S weu
C. Qs §9 D. 1leflo 3s
The study which is related with earth quake is known as -------------- :
A.  Seismogram B.  Seismograph
C.  Seismometer D. Seismology
esUa ALl cllotlotl MU ----------=-~- sécllA 8,
A Realoun B.  Rulous
C Rue? D Rald
The perpendicular above the Focus on earth surface is known as ---------- .
A. Epicenter B.  Hypo center
C. Earth Center D. Focus Center
SsUoll GuR yeclloll qwdl uR udat Blgal -------------- sscll .
A aflde? B slyqde?
C. 9l Aoz D gQsu ez
The outer most part of earth is known as ------------- :
A. Crust B.  Outer Core
C. Inner Core D. Mantle
yecllotl Al wslRotl USA ----m----- 58 B.
A s B oual epolel
C. UdRs ¢otel D. Neat
Creation of hill or formation of cracks in earth is the effect of ------------- .
A. Flood B.  Earthquake
C. Cyclone D. Fire
stall Uddoj [Auiel ag ¥ asrllatdi {lisl usell A --------- ofl A B.
C. aaRy D. a1
The Total Duration of system of Cyclone is considered to be --------------- days.
A 12 B. 1
C. 5 D. 7
alatAstell yslatell s AHA U ------------- (2 el oweu ®.

A q/R B q



62.

SR.

63.

S3.

64.

S¥.

65.

SU.

66.

SS.

67.

SO.

C. y D.

Cyclone formation takes place due to----------
A. Heavy Rainfall B.  Striking of two plates
C. Earth’s revolution & Air D. Drought

Pressure difference due to

evaporation.

------------ A Al ctaulsiell ulsau aa .

AR CRAULE B. & w@e wastal
C. yodlotl udlagnel wua D gwia

i letcatal A saetl

EOURLHL dstad acell
Tsunami is not taking place because of

A. Earth quake in ocean B.  Eruption of volcano in ocean
C. High Tide on Full Moon D.  Occurrence of land slide in sea.
YotlHl ol Aatl 51201 UR Alad otell

A gdlaudl osu B, gdlauni sauouyullej steq
C. Yotntoll @rdl D. gdlauni wissej lavictet

Which is the correct statement from below given choices?

A.  Tsunami Waves travels like wall. B.  Tsunami is not dangerous.

C.  Tsunami takes place due to D.  Tsunami Waves travels slowly.
moon.

oA A [Ascu US| sgy (Quitat UY B?
A ygotdlot st Elatctoll 1iss B yottdll wdReus otell

yaleL 52 9.
Coaom A B yoirll @ ®d. D yottallow 2ot ol iR yauwt

52 9.
From the following which is not the method to control the fire
A.  Fire extinguisher B.  Bucket filled with sand
C. Storage of Explosives D. Water
o(lAstiHiell 58 It oL AWetcal {2 aell?
A glar AR B. 2l etdct ouctél
C. eRolaw A doe D well
Do not do following during Epidemic
A. Do not boil water & Milk. B.  Take Vaccination
C. To spray the disinfectant D. To wear the mask on face.

Ao €M altet oAl ettt o8l sl A8,
A eu ull Gstollal st UG B. ol udlsizs 20 Acll,

C. od sllats eallall H2sial D qat ur Hirs uddl
scll.

Following is not the reason of occurring drought.

A.  Construction of dam. B.  No rainfall

C. Very high rainfall. D.  Tree cutting.

€510 Uall U2 o{lAg] 510 tRGR otel.
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68.

SC.

69.

Sc.

70.

90.

A 3] alitusti B cRaleq] ol Aag

C.o udl e crae D gellef ollseat

From the following which is not the part of Disaster Management

A. Preparedness of Disaster B.  Disaster mitigation

C. Risk reduction D. Todeny the training.

o{lAstHiell 520 eol Slosie AalHesll otell?

Al weell daudl B audlell Aol

C. audl eMauet Alu D el auuct w2 «tsiz.
u2Lsl.

From the following in which disaster light switch can be switched on safely?

A. Gas Leakage B. Fire

C. Drought D. Entry of Flood waters in rooms

o(lRAHI 58 UMl AciHd Ad csedll el g 53| asia?

A SR aadR B 01

C. gsn D. 2ui yretl wiellell yaa

What is name of unit which measures intensity of earthquake?

A. Time B.  Richter Scale

C. Frequency D. Meter

esUall dlacl Hudl Yolled] olin g B?

A e B Aser Bat

C. glsciall D afle?

*hkkhkkhkhkkhkhkhkiiikkik
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